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& ki i =131 Cs-134 Cs-137 Ciat | Cs13a | Getar | oo™ [!00em
1 [\s /N | FR25 | X EE] IR AR BB REF /IR 38.6007) 140.2943| FHRH(K1.7) 3.4 9.9 THRHK1.6) | T2 35 0.04] 004 8H19H

M2 EfEiR 4 | FRk25 |[EERTHIFL2QBMEEHE 38.6503| 140.4405| FH&RH(K1.7) 8.3 20 THRHKLD 7.0 16 0.06| 006 78228
3 |BER = | FRk25 |BIERH RS F R/ 38.6518| 140.4058| Fi&HI(<2.0) 46 12 THRHEK2.1) | THEH(K38)] 6.0 0.08| 009 7H22H

W4 |z O | FRE25 |#iut |E TFTAREE 38.5136) 140.3210) FH&H(K2.1) 18 46 T HI(<2.0) 7.9 21 0.09| 009 9H24H
5 [FER O | FR25 |B1ER X = it it 38.5430| 140.4620) Fi&HI(<2.4) 42 86 T HI(<1.5) 2.9 4.0 008] 007 7H22H
6 |xE=% /N | FRK25 |FIBT | REFETHAE 38.4518| 140.0572| FHRHI(<2.0) | FHEH(4.0) | FHEHKT.0) | FHEHEK2.1D) |[THRH(4.2)|FHEH(K29)] 008 007] 68250
7 |smnk A | Fp25 [EALTHELHRE 38.4994| 1402239 THRH(<2.9) 17 46 TiEH(<2.8) 8.3 24 005 005 6827H
8 @k O | FRE25 | EAGTH IREAGT A7 BN 2R 38.4484| 1402328 THRH(<2.2) 12 24 THH(K2.0) | THEHK4.3)| T H(K5.0) 008 008 6827H
9 |k = | FRk25 |FE)IET [RAIR)I4 REEESh 38.4616) 140.1465) Fi&HI(<2.4) 7.3 24 THRHK2.2) | THEHK4.1) 13 0.07| 0.08f 6H25H
10 |45 O | FH25|siRmH |RABHIIE = chatk 38.4198| 140.4362| FHH(K1.7) 28 62 TR | FiRHK20)| FH(<1.5)] 005 006] 8H1H
1 |4Em = | TR |[flil IR ER S 38.4757| 140.3921| F#&H(<2.3) 34 79 TiRHK2.1) 11 26 010 009 8A19A
12 |£R = | FR25 | KT |IBAST RIS AT /N 38.3847| 140.1380| FiRH(<2.2) | Fi&H(<4.6) 6.1 THH(2.2) | T4 T34 010 009 7H23H
13 [T = | TR |EMITH LK B T BT SHRAABEHIS 38.3783| 140.2588| F#&H(<2.1) 6.5 18 THRH(2.0) | FiRH(<4.3)| FH(<65)]  009] 008 10H22H
14 |x% 0 | Frk25 | XEM |SROERRHESENFAIRI ) 38.3631| 140.4628| THRH(2.7) 81 170 THH(K1.9) 4.3 9.9 0.15| 0.14 7838
5 = A | FR25 (1508 |IHAblESS 38.3054| 140.2091| Fi&H(<2.2) 15 35 THH(K1.4) [T H(2.5) 3.3 0.04] 005 9H27H
16 [e7E N | FRR25 |8 AET | IB%A H RS E NS 38.2725| 140.1347| FHRH(<2.1) | FHEH(K4.1) 5.1 TR (<2.0) | FigHK44)|Fi2H(<28)]  009] 008 7H23H
7 iz A | FRR25 (st |EEANE L iR 38.2780| 140.4085| Fi&iH(3.7) 110 260 T (<2.5) 25 68 0.08] 0.07| 128198
18 |1l /N | ERR25 [Iifisth | Rl E g RS AR 38.3098| 140.4396) Fi&H(<5.1) 150 380 THHI(<3.2) 72 180 0.07| 006 128198
19 Bl 4 | F25 it |EROF(PRES) 38.2374| 140.2057) T#Hi(<2.4) 20 55 TR (2.2) | FIRHE43)| 7.1 006 005 12818A
20 |/ O | FRE25| b 1B I/ s 38.1858| 140.2260 | FiaH(<2.4) 9.1 20 TR K2.1) | T4\ FH2H(<34)  009| 0.10| 10H24H
21 WifsEaEs | 4 | FRk25 st [ B Tt R s 38.2374| 140.3359| F#&H(<2.3) 18 40 TR (<2.3) | TR H(<4.6)| FH2H(<3.6)]  008] 008| 10H22H
22 |\l R ED N | FRR25 Wi |EBWMERE1R TS 38.1948| 140.2976| F1&HI(<6.0) 200 490 THEH(<3.0) 72 180 0.09] 009 128208
23 | A | FRE25[Iifgmh | S ERREHH B 38.2258| 140.4452| FHRHI(<4.4) 170 360 THEHI(<3.4) 53 120 0.09] 009 6A78
24 | i /N | FRR25 g [$RERE - - - - - - - — i —
25 | Bl A | FERK25 [ b | IBERA 38.1504| 140.2236| FH&HI(<2.5) 22 57 THEH(<2.3) 5.0 9.4 0.09] 008 108248
26 | b1l A | Frk25| by | LTS IR N E SRR 38.1634| 140.3355| &t (<3.3) 97 230 THEHH(<2.6) 30 74 0.07| 0.07[ 108248
27 [ kil 0 | Frk25 | bl |RRNESES 38.0908| 140.3239| FHH(<2.2) 6.7 15 THRHK2.0) | FHRHK36)|THH(<28) 008 008 10F24H
28 | E 1l N | FERE25 | B [BESI—2TS5IF 38.1244| 140.3937| FHRHI(<2.4) 34 82 TaHI(<2.2) 4.6 12 0.06| 006 10A24H
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1[FERE A | FR25 |BERT | SBEBECELRIRE 38.2193 | 140.1001 | FH&RH(K2.1) 11 24 THEH(2.0) | TERH(<4.0)| FHEHI(K2.5)] 010 0.10 9H9H

B 2|8 /N | FRE25 [EFERT | B RERT I L/ 38.2041 | 140.1319 | F#RH(2.3) 39 84 THH(1.9) | THEHKI.Y)| FHRH(25)]  0.12] 0.11 9A9H
3| A | FR25 MNERT |ATFHER 38.1604 | 139.7444 | F#RH(<1.8) | THEH(<3.5) 12 THRHK2.1) | FHREK42)| FHH(<2.8)| 009 009 7H16H

| 4|RH O | Fak2s [RAM |[RAMIHHERNER 38.0942 | 140.0665 | FH&RHI(<2.2) 9.5 19 THH(2.0) | FHHEK45)| FHH(<2.8)| 012 012 9K13H
5| RH# /N | RS [RHAW (IUBETRASK 38.0966 | 140.0375 | FHRHI(<1.8) 6.2 14 THRH(K1.9) | FHREKS.D| FHH«Ks | 0.10f 010 9H25H
6| HETH L /N | FRE25 [FEkBT SN REE 38.1029 | 140.1546 | FH&RHI(<2.9) 75 190 THEHH(<2.3) 19 58 0.11] o010 9H13H
7| HETH L = | Fak25 |EGT (Rl S i R E A 38.1502 | 140.1728 | F#RiH(<2.3) 42 93 THEHI(<2.2) 4.7 7.9 012 o012 9A13H
8|/NE 0 | FaE25 /NERT [NERTIZE)N - R 54| 38.0085 | 139.7238 | F#EH(K2.1) | FH&RH(K4.1) | FH&RHI(6.0) | Fi&H(<2.2) 9.6 22 0.06| 006] 78198
9[/hE /N | FRE25 [NERT [NERTIE)/N - R 38.0329 | 139.6817 | F#&RiH(<2.3) 5.7 13 THEH(<2.1) | FHEH(K4.3)|TH#H(<29)  009] 0.10 78168
10[/MEI B AR A | FR25 /NEIRT |/NEETIFE RN 38.0536 | 139.8220 | F#&HH(<2.0) 6.6 13 THEHI(<1.9) | FHRH(<3.9)|[T#HK6.7)  0.11] 0.10[ 78198
1/NERER /N | FRE25 MNERT |EREHAER 38.0419 | 139.7626 | FHRHI(<2.2) 6.4 14 THRH(K1.9) | T38| FH(2.7)| 009 009 7H19H
12|F/F O | FRE25 [SREET |8REET S8R iR 38.0418 | 139.9881 | F#RH(<2.0) | FHRH(<4.2) | FHRH(<6.6) | FIRH(<2.1) | FERH (K4 FH&HK2.7)) 010 0.10 7A98
13|F/F /N | TFRE25 [NERT|/NERTS BN - R 38.0188 | 139.8741 | FHRH(K2.1) | THRH(<4.4) | THEHI(<6.8) | FHEHI(<2.3) | FHEHK4.6)| T HI(<2.9) 009] 009] 7H16H
14| R/ ERE25 |JIFERET | JIFEET IS /R 38.0180 | 140.0896 | FHRHI(<2.4) 27 58 THEH(<2.3) 4.5 10 011 o011 687H
15| R/ = | Fpk2s |[RHM [RHMITSH/NER 38.0689 | 140.0417 | F#&H(K1.9) | THEH(<3.5) 3.5 THEH(K1.9) | THEHIKI.8)| FHRH(<26)]  0.11] 0.11 9A9H
16|75i% N | TR (B EHT &8I ERNER 38.0131 | 140.1742 | F#riH(2.4) 6.9 17 THEHI(<2.4) | FHRH(5.8)| FH#H(45)]  011] 0.11] 108238
17| ERE A | FRE25 |BREBHET |SIEMKX S BIESMR 37.9910 | 139.9537 | F#RH(<1.8) | FHEH(<4.3) 17 THH(<1.8) | FHRH(K4.0| FHH(<2.6)] 010 0.09 7H9H
18| KIRALER A | TFRE25 [JIFERT | )1 PEET I A BB/ AR 37.9911 | 140.0724 | FH&RH(K2.1) 7.0 21 TR (K2.0) | TH#RH(4.3) 4.2 0.09] 0.10 687H
19| KIRALER /N | TFRE25 [JIFEHET | JIFEHET ST BRIR/INVEER 37.9555 | 140.0269 | FH&RHI(<2.2) 23 49 THEH(<2.3) 4.6 12 0.09] 0.09 687H
20| %7 B Frk25 |E ST | SRR MR 37.9577 | 140.1918 | F#xiH(<2.3) 7.2 16 THEHI(<2.0) | R (4.1)| FH#H(2.9)]  009] 0.09] 108238
21| AHIR = | ko5 |SREE [IRSREETY iR ) I/NVER/NES ] 37.8866 | 139.9257 | FARHH(K1.8) | THRH(3.9) | FHERH(C2.7) | FHEH(ITD) | FHRH(K3A)| FiiHK22)| 009[ 0.09 7898
22| KR A | FRE25 RiRT | IWBEIRKRESK 37.9127 | 140.1045 | F#RHK1.7) 18 40 THRH(<1.9) | FHRH(<3.9) 6.1 010 o.10[ 9AH25H
23| KR 0O | FRE25 RIRT KR I ERANER 37.8717 | 140.1062 | F#H(<2.0) 14 33 TR H(<2.0) | FRH(<3.7) 5.1 008 009 10A7H
24| KR | TpRos KRR |sopansr = RegapasussR a5 | 378692 | 1400283 | FigHi(<2.7) 9.1 23 THRH(K1.9) | FHREK4D| FHH(<2.8)| 009] 009 10H10H
25| KR = | Taros [RRW | siResr = Rpgap/hsets 37.8990 | 140.0222 | F#EH(K2.0) | FHEHEK4.1) 5.8 THH(1.8) | THRHEK4.0)| FHH(6.)|  0.10] 009 10H10H
26| KRB AR 0 | Fos |RRT | xRARESE (KRN R 37.8410 | 140.1966 | FH&RHI(<2.1) 28 63 THEH(<1.8) 4.2 8.1 009] 009 10A7H
27| KIRE AR /N | FRE25 [RIRT | ARR I BRAR/NEAR 37.8647 | 140.1482 | F#RiH(<2.3) 33 73 T HI(<2.0) 7.2 16 0.08| 009 10A7H
28| IR R A | FRE25 [RIRTT | KIR S B /NERBEAR S 1K 37.8017 | 140.0676 | F#RH(<3.4) 67 150 THgEHI(<2.1) 6.3 17 0.10] o.10f 10A10H
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# "E ’E 1131 Co—134 Cs—137 1131 Go132 | Gsia7 | oom | 100em
N g A | Fmos |ER)NAN BRI =T RI5 (IB R/ 38.9766| 140.3592| Fi&H(<6.4) | FHRHI(<8.0) 19 T HI(€6.5) | IR H(<6.D)| REEHI(K7.4)  007| 006| 8H27H

B 23R /N | FRees [EA [IHEE)IA B ) I/NVER E IR 38.8442| 140.1755| F&H(<5.9) | FHEH(K6.8) | THRH(K6.2) | FHEH(<6.8) | T H(5.8)| Fi&H(K75| 0.08| 0.08 7838
3|l O | Frr2s5 [#ILET £ LB BAR/NER 38.8622| 140.3506| FHRHI(<6.3) | THRHI(K6.4) | FRH(KT.3) | FEHKTA) | TREEKS.D|THRH(K6.4)]  004] 004 10821H

L1 4sgnew = | s |EE)IEBEESNMEEN AR 38.8971) 140.2556) THEHI(K7.4) | THEH(K6.4) | THH(K8.4) | FHEH(<8.4) | FH&H(<9.4)| Fi&gH(«9.0)[ 006| 005 8H27H
STBRER] O | Tros [#)I1F |B)IRE)NEE 387949 140.2181| THRHI(<6.5) | THRHI(K4.9) | FHRH(KT.0) | FHEH(6.8) | FI&RHI(<6.2)| FHRHK7.3)| 005 005 8H12H
Eiiea /N | Fpkes |FiET [ILETHIFRS SR 38.7638| 140.2918| Fi&HI(<7.6) | FHH(K7.8) | THRH(K6.9) | FHEH(KT.8) | T H(6.5)| Fi&H(«<86)| 007| 0.06 8A6H
Mg = | PR |EEIA | IBEE)IA ST 4 B/INERR 38.8290| 140.2770| T#EH(<6.8) | THRH(<6.6) | THH(€6.3) | THRHI(K4.7) | FHRHI(K4.5)| FHRH(5.5)] 005 0.05 7838
8lR N | Fpes | R |IB5 ERTIEE RN 38.7547] 140.4225| FEH(K7I.1) 13 39 TH#H(4.2) 4.6 9.7 0.08| 006] 6827H
9| fy = | Fmos LR |HERTEGER/NER 38.7929| 140.5082| Fi&HI(<7.6) 33 64 THH(6.9) | TH#H(K6.5)| T#H(<6.8)| 008 006 7H30H
O#n N | Tres |FRY |IBERAIIEIN- itk 38.6926] 140.1549| F#H(<8.9) | FiRHI(<7.8) | FHRIH(8T) | FHRH(LY) | FARH(6.9| FH&HH(<84) 005 005 9H198
Atz N | Trrs |AHET |SHEIS A Rk 38.6892| 140.3095| F#H(<6.9) | FIRHI<6.8) | FHRH(<T.4) | FHH(8.1) | FigH(<6.3)| Figh(<65)| 005 005] 8HsH
2)paika | 4 | Paios |BrE |MEEDLS 38.7380| 140.6128| FigH(<7.2) 18 35 TARHI(<55) | Tidt<e6)| 13 007| 007] eg278
Blmgima | o~ | THos |S AT |8 PRI RANSH 38.7136| 140.5540| F#&H(<7.6) 19 48 THEHK6.D) | FTHRIHKI0| F#H<I5|  006] 006 7H30H
i liotia TRi25 | KEEH |BLSTRRE 38.6691| 140.2080| FARHI(<6.7) | FHH(<8.4) 7.7 THRH(T.4) | FRH(<64)| R 005] 005| 68268
15| g4 k25 | KEH [[BE4EFEL4— 38.6285| 140.2205| FHEMH(K5.8) | THEH(K6.1) | THEH(K6.0) | FHEH(T.5) | T#H(<5.8)| FHHI6.6)] 005 004] 6H26H
16) gt 47 = | Fgios |FRM | ERIE PEAE E— 38,6546 140.1692) TS | FHH(8.2) | FHH(S3) | FHAHKIS) | FHHKT9|FEH(«82) 004| 004] 9H19H
En = | Frkos [fEr IETmﬁ;mﬁt@m/Jﬁ& 38.6625| 140.2753| FA&HI(6.5) | THH(<6.6) | FHRH(T.3) | THH(<6.6) | F&H(<7.6)| Figr.3| 006] 005 8HsH
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T | No| seREA (s BTAZ 4R BT AT RS A - T 3 e N T P2 iy A

i e e 131 Co-134 Cs-137 131 Coi34 | Goiaz ] ooem | 100em
T wess O | FRk25 | W ART sy Es @ hamm (i -sU—)|  39.0399| 139.9940| F#EH(<3.0) | FHRH(K6.1) 8.1 THRHK2.7) [FEHEKS.3)|THRH(K3.6) 006 0.07 65 18H

| 2 |wew = | k25 kR [IHHERICERRER 39.0632| 139.8891| THRHI(<1.3) | THH(K2.8) | FIRH(K1.8) | FHRH(KI1.5) | FHEHEK2.9)| FHRH(<2.0) 0.06] 005 78308
3 |HEES| 0 | Fries EAT [FERAH — — — -— — — — — — | — —
4 |HpEES N | Trios EAT [BRATT — P 38.9563| 139.9279| THRHI(K1.5) | THRH(KI.2) | FiRH(K2.1) | FRH(K1.6) | FHRH(EK2.8)| FHRH(<1.9) 006] 005 68188

M| 5 |#m /N | Fpkos JEET |[AILARE 38.9204| 140.0154| FHEH(<2.1) | THEH(<3.8) 19 T (<2.5) [T Hi(<4.6) 28 0.05| 0.05 981380
6 |sEmETE A | Frkos {EET IR ERRSEFER 38.9093| 139.8426| THRHI(<1.5) | THRH(K3.0) | FIRH(K2.0) | FIRH(KI1.4) | FHEHEK2.6)| FHRH(<2.0) 0.06] 005 68208
7 %8 A | Frkos {EET ILBSEE 38.8993| 139.9688| F#&MHi(<1.5) | FH&EH(<3.1) 2.7 T [THEHI)|TH#EH(K2.0) 004 004 7A25H
8 |8 = | Frk25 (EAET |[FRET N E 38.8942| 139.9111| FRH(K1.6) | THRH(3.2) | FHRH(KS.0) | FHERH(K1.6) | FH#RH(<3.4) 28 0.05| 0.06 6821H
9 |5z /N | Fpkos EET LR AR 38.8476| 140.0078| F#&EH(<2.0) | FH&EH(<3.9) 3.2 THRHK.9) [FEHEK3.D| T H&H(K24) 005 0.05 65821H
10 ;o HiE N | R |femT |SEEmESRE KT bS] 387816  130.7873| FHHK1.8) | FEH(3S5) | FHRHK2.4) | REH(KIS) [FEHK33)| 35 0.06| 0.06] 8H29H
" ie%iE = | Fpkos SEMAT |BEEATS ERNEE 38.8253| 1307838 FH&HI(<1.8) | FH&EH(<3.7) | THH(2.4) | FEH(<1.9) | FEH(<45)|THHHK25) 006 006| 6A18H
12 g 4 | Fpkos {EAT |EETHT #hREEB/NER 38.8135| 139.9958| FARHI(K1.9) | THH(3.8) | FHRH(23) | THH(1.9) | FHRH(3.8)|FH(<26) 005| 005 68218
13 s = | Fpk2s BT [REB+XF +XFLARE 38.8096| 139.8966) THEHI(<1.4) | FHEH(3.0) 3.1 THRHK4) | FEH(2.8)| FH&EH(<1.9) 006 005 8H29H
14 [0 = | Fkos SEAT |{REFH — — — — — — — — — | — —
15 |=38 O | Fpios |8t |PtRISa=T—t 89— 38.6907| 139.7007| F#aHi(<2.2) | FHaHH(<4.6) | THH(3.0) | FEH(<22) | FEHC4D|THHK40) 006 006| sA26AH
16 | =3 = | FRkos |#EMT [#BRITIT R/ 38.7170| 139.6869| THRH(K1.8) | FHH(K4.0) 25 THRHEKL.9) | FHRHK38)| 4.1 006 006] 7A23E
17 | g8 4 | Fpios |#EMT |WWRE ST B4 E S 38.7324| 139.8273| FHEHIK1.8) | FHaH(<3.8) | THH(2.4) | FEH(<1.9) | FEH(3.9|THHH(K25) 007) 008 6828
18 |#e N | FERRos |emT |#BRIMIST BRI 38.6946| 139.7740| TiRH(<1.8) | FH&HI(<3.8) 2.7 (K19 | R 3D F#H«24)] 006 006] 78238
19 |smE O | Frkos |gEMET |[FIKARE 38.6964| 139.9411| FHH(K1.8) | Fi&H(4.0) 33 THHK16) | F#HK32)| 23 0.06| 0.06 8A7H
20 |spE N | s Rt (Bt RSN R 38.6792| 139.9131| THRH(2.2) | FTHRH(K4.3) 8.7 THEHH(2.3) | T HI(<4.8) 11 007 | 006 78238
21 | kDR N | FRE2S |ERET [FURARE 38.6955| 140.0058| FiRH(<1.8) | F&H(<4.0) | FHEHK25) | FHH(<2.0) | T H (40| FH#HK«25)] 006 006 8F27H
22 |8 A | FrE2s5 |#EBMm [RFBBRIB 38.6391| 139.5040| F#&HI(K1.D) | FHH(<3.2) | THH(2.3) | FEH(<1.6) | FEH(3.D|THHHK23)] 005 005 78258
23 llF: 4 A | ko5 [EEAT |BIE LT B 38.6572| 139.7399| FiRHI(<2.2) | F#aH(<3.6) | FHEH(K2.2) | FHEHI(1.8) | T HI(<3.4)| FHHK«2.3) 005 005 8H26H
24 [IhFE ) | Fpgos |EERET | —SARE 38.6002| 139.6467) FHEH(K1.7) | THEHK3.7) | FigH(K3.2) | FEH(KI.8) |FEHK3 28 0.07| 007] 9g208
25 | R )1l = | Fpios [T |HBFE — — — - — — — — |
26 |54 pd A | FRos R |SBEEat 8— 38.5488| 139.5010| FHRH(1.6) | FigH(<3.2) | FHgHH(<2.2) | FERH(KID) | FIRH(BA|F4RH(<22)  008] 008 98208
27 |~ g O | Frkos |gEMT [AEEswEL 24— 38.5358| 139.6154] THHI(<25) | FHH(<4.6) | FHEHK40) | FHH(2.1) | FHH(48)| FEHK41) 010 010  9H20H
28 | KEpiR N | RS |EEET |EOHES 385172 139.6775| FHEHKID) | FHH(<36) | THH(25) | FEH(1.9) | FEH(3.8)|THHH(«24) 006 006 98178
29 | KR = | Frkos |B@A® [MESREESNBOE 385672 139.6368] FH&HI(C1.7) | FHaH(<3.3) | THH(35) | FHEH(<1.6) | FEH(<35)|THHHK21) 006 006 98178
30| FAR 4 | Frios AT |[BIIEHAR 38.5798| 139.8254| TRRH(K2.1) [ THRH(K4.2) 44 THRHK2.3) | THRHK46)| T30  007] 007] 8A27H
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